M5

IS

= K it K

RV

St =

5 B3

=

u]

HHRASIE

o dp Rt

*® I (

TR
amom
mm

B EH/ 5 20KK0001-0C1

Ko FRESTH #iN

R -

HWPFRL T T 0 v RYPKUIE T




7N 1] A
TR I SR
HEKTO (VU ¢ 300) L=4. 3m AR TDO (VU ¢ 300) 1=4. 5m
HKT® (VU ¢ 300) L=6. 8m HkT@ (VU 300) L=6. 8m
FrL A FHET —
70 REfET A=10, 528. 2m2 7o RfET A=10, 528. 2m2
e L — T Lt
[ At K B
& & 73,992, 600 M 81, 170, 100 H
(N 3
T =+ il % 67, 266, 000 Y 73,791, 000 [
HE B HE MY S 6, 726, 600 1 7,379,100 [
BIEIERAEEE (BliAA) 65, 822,900 BRI GH (BliAA) 72,207,300 M
28 & # (Aa) (PFR)
- AIEEER AR (Bl %) 59, 839, 000 [ EHEIHGHE (Fidh &) 65, 643, 000 M
THE B Y%A 5, 983, 900 Y THE B FE 4 %A 6, 564, 300

20KK0001-0C1




ARTHEENRE

BH - TR - R - B Bk BT & il & #H e fif
Ha A ) 1 36, 388, 946
=
1 39, 894, 789
PR T.Q ) 1 1, 784, 100
VU ¢(300 |L=4. 5m =
1 1, 657, 632
BT [#R] 1 356, 306
2V
1 303, 763
FERRARE CNRIN 9 750 PR 1)) 18.2
Ju=570 1180, 13m3 (EFEO. 10m3) m3 -
BRI AL B T VN k) 8.2
PR P A+ 8 oD o B 4t B (RS m3 T
FEAEEWM L 4 U7 M2t v/En0. 13m3 14.1
FriE1l. OkmPL N +#> DIDH Bi4F m3 1
BE AR R ALy (V7994 TY) 3.2
DIDA Y 6.5kmLL T BA4F m3 -
BE MR SRy ORAEMEAT)) 1.1
DIDA Y 6.5kmLL T BE4T m3 s
CRician G| ‘ 1 48, 942
=
1 50, 790
R LY V& E T 4.3
P E300mm  20mAS i m
4.5
B AR T o 2
e LAY b A

20KK0001-0C1

o




ARTHEENRE

R - A - fER - MR - i BT & il & M e i
BT[] 1 13, 843
=
1 14, 753
AR (BEHIMREO. 9) 1.2
m
AR (BRHIMREO. 9) 2.8
WA= m
3.1
LRSI 1
500 X 500 X t6 %
T T[] 1 120, 615
=
1 105, 552
TVIRAR -8 5.5
EX2. 0mbL T m
4.8
FEmE T[] ) 1 2,108
oy
BRI E - R 2
91 4mm*1829mm e
AR 22%914%1829 9
/e
KA T [#H] ‘ 1 17,901
=
fralPEK Ok T ‘ 1
=

20KK0001-0C1

o




ARTHEENRE

Bl - TFE - FEB - J0B0 - HIES BT ¥ = il & | e I £
~ A — T[] 1 468, 496
=
1 416, 466
AHNERV VR B L B 1
38 (N 1500mm) & < 15 AT .
ST/ AR B T -
23 (P9£%1200mm) 1 X (&I |
v -VEA ‘ 1
=
1
Y Ay MR T ‘ 1
HHERRT A = )
SEHNT BT T . 4
B R Gk E - A 3.5
ZAAy MR Hhm2
2.8
777V=y V= (HEXF21K)
HEEY 7 A 5 FRES14. 9t H
oKL [#fH ] ‘ 1 101, 157
=
FeEn 0.8
12. 5emZ#B 2 17. 5emPA N A )79v47/4070 m2
Tl 5.2
— R Bk - MRS m2

20KK0001-0C1

o




ARTHEEN

AR

BH - T8 R - JB - B HAfL =1 i & #H iz fif =
av))- 0.4
T SRR N TR 18-8-40 GBI —ARae/E BRI/ INENREE L m3
SHELY Vv (- v 0 LR OB i BHAT 1
500X 500/ T-2 1k #a
URME T [ ] 1 98, 979
=
SR N 1.2
12. 5emZ B8 2. 17. bemPA T FF4E)79v47/4070 m2
Bip oAt 3.2
— TR BRI - MRS m2
2y —p i 0.3
TE - SRRHEEY) A IHTER 18-8-40GtF) /e BUBDY/ NG L m3
S V-F T GEZE-R VEER-E D (o8 —HGHE) 2
300/ T-14 #H
HEEE T (&) ) 1 36, 453
=
1 44, 893
~ U AR— U E L o 1
fé1 AT
1
P UINERE T 2.6
300 300 m
H— R L—/UEEBT (&) ‘ 1 17,976
(WA X

20KK0001-0C1

o




ARTHEENRE

R - A - fER - MR - i BT & il & B i
RAZIHRE  (CEARRRIRE) 4.0
m
ARAE [H R 4.0
m
ST [&H] ) 1 140, 345
AEIH (EATRXIRE) 2V
1 122, 315
ELERR T 14.3
TAT7VMEREE R As:15emPl m 29
LSRR A OB+ T0) ) 13.4
m.
11.9
TAT 7 N IER AL 5y 1.3
DIDAE Y 6.5kmLL T BE4T m3 -
BB A ‘ 1
oy
1
Sk 1
G T[] ‘ 1 360, 979
AMEIA 2V
ELERR O 19.0
TAT7VMEREE R As:15emPL m
LSRR A OB+ T0) ) 46.9
m.

20KK0001-0C1

o




ARTHEENRE

BH - TR - R - B Bk BT o B il 4 #H L i =
7277 N SR SE R AL Sy 3.7
DIDA Y 6.5kmLl F BA4T m3
BE WA SRR ALy (VT9v4TY) 0.9
DIDA Y 6.5kmLL T BE4T m3
B E A 1
ol EAE 1
=
DX 3¢ (F YE AT o o 6.3
WA AETE) SRS LR -20em HIF0FE L <A BAEL 5o KM Rt G458 m
HENT.@) 1 1, 378, 351
VU ¢/300 |L=6. 8m =
R [%H] ) 1 255, 589
=
BEARIE AN GBIy Ry HE A 13.4
yn=781+ (150, 13m3 CEAHO. 10m3) m3
BRI B T (VNN k) 6.4
PR A+ 8 oD o B 4t B (RS m3
FEA LIEHE T 4707 MIvs2t+n 97800, 13m3 11.3
JriE1L OkmEL R +#) DIDA E4f m3
BE WA SR ALy VTV TY) 2.2
DIDA Y 6.5kmLL T BE4T m3

20KK0001-0C1

o




ARTHEENRE

R - A - fER - MR - i BT & il & # B i =
BT [&MH] ) 1 71, 608
oy
I b OV E R E T 6.8
FLE300mm 20mASTH; m
AR T o 2
HHELERT A b (&I
BT [%H] ) 1 22,271
oy
AR (BEHIMREO. 9) 1.8
m
WA (BRHIMEL. 0) 3.2
m
W EEAE (PRHINEO. 9) 1.6
i/ B+ m
PRFESIAN 1
500 X 500 X t6 e
RO T [#&H] ‘ 1 74, 336
=
TV RAR L8 1.3
VEX2. 0mLL T m
TVIRAR -8 1.8
EX2.5mPL m

20KK0001-0C1

o




ARTHEENRE

R - A - fER - MR - i BT o B il & # e i
Weim 2 T[] ‘ 1 2, 028
=
BRI E - R 2
91 4mm*1829mm 754
AR 22%914%1829 9
e
KA T [#H] ‘ 1 35, 905
=
fralPEK Ok T ‘ 1
=
~ A= T[] 1 9, 822
2V
< AR —/LHIFL T 1
N
WEmeEn bl 0.01
SIS AN hE T HRE WA m3
av)) - RERR ALy CRAD) 0.01
DIDAE Y 7.0kmLL T E4F m3
SENBET [#] ‘ 1 79, 572
=
FRE N 0.8
12. 5emZ B 2. 17. 5emPA ™ A 79v4774070 m2

20KK0001-0C1

o




ARTHEEN

AR

el - T - FER) - KB - KRS HAL = 1t & il 1 %
ity . 4.2
— TR B - A m2
ay)) - 0.3
HER - GRAHES) A FTRE 18-8-40(Bal) — A/l LWV INEIEL | 3
SHELY Vv (- v 0 LR OB i BHAT 1
500500 T-2 Wik il
U T (4] ‘ 1 205, 075
=Y
e S N 2.6
12. 5emZ 8 2 17. 5emEA T #542779%47/40 70 m2
Bip oAt i 7.2
— MR BRI - G m2
/7Y =} i 0.7
SR GRS AR 18-8-10 (Bal) —HEAR/E BV INERIEL | @3
VT (ERRR VMNEER IR Y L) —RH GIE) 4
300/ T-14 il
L L[] ‘ 1 20, 558
=
P UMM E T 4.8
300X 300 m
H— R L—/UEEBT (&) ‘ 1 17,976
(LA =

20KK0001-0C1

o




ARTHEENRE

Bl - TFE - FEB - J0B0 - HIES BT =X Al & | e fif
RAZIHRE  (CEARRRIRE) 4.0
m
ARAE [H R 4.0
m
e T[] ‘ 1 74,112
AR (A % ) 2V
ELERR T 6.2
TAT7VMEREE R As:15emPl m
LSRR A OB+ T0) ) 10.6
m.
TAT 7 N IER AL 5y 0.5
DIDAE Y 6.5kmLL T BE4T m3
BB A ‘ 1
oy
HIE g 1
G T[] ‘ 1 509, 499
AIEIH =
ELERR O 17. 4
TAT7VMEREE R As:15emPL m
LSRR A OB+ T0) ) 71.8
m.

20KK0001-0C1

o




ARTHEENRE

BH - TR - R - B Bk BT o B il & % e i =
7277 N SR SE R AL Sy 6.3
DIDA Y 6.5kmLl F BA4T m3
B E A ) 1
=
Sk 1
2V
DX [ (5 Y4E LAl ) . i 10.2
AT A TE) SE TR TEME F28R-20em K04 BAGIEL Sam PEKEE ROEME 547 EE15718% m
I 2 (P L) o . R
WA RCFE) SEEAEME AR 45em KA WBATEL 5Smn PEAKME RHEME 54157 18% m
T ‘ 1 3, 125, 864
Eae
1 3, 217, 558
BT ‘ 1 433, 992
=
1 360, 620
FRcAl T 312.9
m
260. 0
R T ‘ 1 282, 523
=
1 491, 540
SRR Fov)—(kER 2
HRJE * 20emA i N
SCREARDIER Fr—r)—{RER 7
2 JE 1 20emPL _E 30cm AT N

20KK0001-0C1

o




ARTHEENRE

R - A - fER - MR - i BT & il & KA L i =
SCREARDAER Fr—v)—{5ER 10
g2 JE 1 30emPL _E60cmA i VN
BEAR DR Frv)—iBR 1
28 1 60cmbL _E90cm AT VN
RERAE 7.4
AJIFIA DIDA Y 6. 0kmPL T BAF m3 28,5
TR TER LSy 7.4
DIDA Y 6.0kmLL F BA4T m3
28.5
EPTERE R (R IR v
Ny b7 =B (E A - SRR ED) PR 227 23m H
FANBIE T 1 2,324, 751
=
1 2, 206, 870

i PRI B 10
E2 )8 30ecmlA _E60emA Vi
F AT E A 3
g2 JE60cmPA_F90cmA i A
FRARFEART E SFIEAS 4
28 90emlA _E120cm AT A
i PREA T B EAS 3
B2 8 120emP_E 150emA i PN
FRARFEARTY E A 4
52 & 150cmPA L 180cmA it N

20KK0001-0C1

o




ARTHEENRE

R - A - fER - MR - i BT o B il & KA L fif
i PRI BHEER 6
B2 8 180emPl_E210emA i N
ERARFEARTY E A 1
82 5 210emPL_E240cmA i VN
S E R E 11.9
ANJJFEIA DIDA Y 6.0kmbA F BAF m3 .
E@Tfﬁ@ﬂxm% 11.9
IDAY 6.0kmPA T E4F m3 .
mEATIEE L (R fEYET o%
Ny b7 =bBR (B - e =) PR 51227 23m H
FRELT 1 45, 689
=
1 119, 619
TH R R (B e 1) 63. 4
}E%l‘iﬁ (hyh£2255mm) TROVAEH#ER V m2 .
XAT: (Bl 2) bl | |—————
1. bmA i m2
317.0
FEE 63.4
m2
317.0
FEIATEH 63.4
m2
317.0
FREA SR AL Sy 3.2
DIDAE Y 17.5kmLA T BA4T m3 \

20KK0001-0C1

o




ARTHEENRE

ol - TR - fER - MBI - RS HAfL & i & M T L fisi
G T (aEED) (4] ‘ 1 38, 909
=
el W 116 -4 5] 4.0
it H m
ELERR B by 3.0
TAT7VMEREERR As:15embPl m
LGB A O T0) ) 5.3
m.
TA7 7 SR E SR AL Sy 0.2
DIDA Y 6.5kmbL | BT m3
BRI (B 1) 5.3
e dH v m2
8 (BHERR) - 5.3
L. 4mASili (2L £ 0 JE50mmEL ) 30mm FFAEZERIEE Ay (13) 7 74ha-MPK-3| m2
VAVU AN S ] 1 28, 214, 521
A=10, 528, 2m2 =X
1 31, 676, 458
RERAME A T ‘ 1 448, 380
=
IR EETE 33.8
m3
)8 (HE - B E D) 112.5
L 4mPl 3. OmEA R 50mm FEAEBRIE AT, (13) L m2

20KK0001-0C1

o




ARTHEENRE

BH - TR - R - B Bk BT & il & KA L i =
) - MRSy (ERR) 1.0
XY m3
%N B 33.8
B m3
% N B 5.6
TATTV ML m3
i F S T 1 699, 500
=
1 961, 597
BERR T A SRR AL )3 e 4
1 P
BESRN V- EL i = 04y o 2
151 T
BERN AT FRpE s sy B 2
15 AT
1
BESRTA/7-7" fEASy 4
i)
BERR A=) 05y ‘ 1
=
BERRE vFv-7" V=Mt sy B 2
15 AT
[ Ve (6 = (I _ 1
15 AT

20KK0001-0C1

o




ARTHEENRE

BH - TR - R - B Bk BT o B il 4 #H e i =
BE A F ALy B 1
15 AT
BER S B IR 24055 o 1
1 FIT
BEsXn apyba -veEsy | e —
[ & = pAe 3
BE kst =nsy | e
1018447 e |
) - o ERsy ===
HHh H
18
S R N e 11 N N e
piig) m3
2.5
AN 7 ) 1 379, 444
=
HREER N ERT) 370.0
FiE m
AR ONVARCE ST, B 5
H=25emll F & AT
/INEETER (FEA TEME B L) - 33.0
T 40mPL T m3
HEFE +HD3E MR ALy 33.0
DIDE Y 7.0kmPL T B4T m3

20KK0001-0C1

o



ARTHEENRE

BH - TR - R - B Bk BT ¥ &= il & | iz fif
BT ) 1 154, 611
=
1 100, 611
INEREPRE T JE ) 1, 487.0
m.
SEEL, FHIA - T (A1) 1.5
HEE Fm2
FE B, BDA E R (23[) 1.5
FEIA - E Tm2
SRER SRR ALy 4.5
DIDAE Y 17.5kmLA T BA4T m3 .
+T ‘ 1 1, 985, 554
=
1 2,201, 434
N IRIIR -~ - _ 1,105.5
Jo=7580 | LIFEO. 45m3 CEA40. 35m3) VAE +- 10 - WVEL +-khtE + 8 L U (WiBhor#7n L) e iE m3
THbEEERR (O PN/INERR) \ 1,105.5
AN ATy 2R L0, 28m3 CEAR0. 2m3) HAD CHBl- EAR Y & Te) DIDAEL 0.2knlh T EAF m3
50 D R B AR T 5 iR AL 263. 1
DIDF 7.0LL F EIUf m3
179. 1
IR L V& ey =
DIDAH 7.0LLF BA4T m3
84.0
VAVUVANE E ) 1 20, 403, 651
=

20KK0001-0C1

o




ARTHEENRE

HH - TAE - FER - AR - B HAL H = it & TG i %
BRT 10, 528. 2
TA=F7 b = =3tk m2
MW7 Viysh (IRE 1) 10, 528. 2
VAPV 7 VA m2
AN Vv )R L 10, 528. 2
TAAFTT W = =3tk m2
VELZAAVTLS S 10, 528. 2
3tn—7- m2
FEHt BT 10, 528.2
TR == TV A m2
AL 10, 528. 2
ET L. 2kg/m2, b7 £50. 003m3/m2 m2
Jiti 518 1A T ) 1 3, 370, 500
=Y
1 5,048, 762
tyfr=7 V-MEIR (B T3E) - 2
AR ML+ 7 TR} & P
F=bN"—AEIH (B T3E) - 2
AR W+ 7 7R} & T
SN -MEIR (B TE) 1
Pi7e il
K AvM-)1E IR (B T3R) B 26
SR & FT

20KK0001-0C1

o




ARTHEENRE

R - A - fER - MR - i BT o B il & KA e i =
SUMNE 5 B 1
& A
2
7oAR AME IR (BF TL3E) 3
gl (whEte) L ;
722477 E IR (M T dk) 3
P IATTAN =its if]
2
NV=F AMEIH (B T3k) 1
gl (whEte) L 5
N V=477 IR (B TR) 1
P IATTAN =N i} 5
N Ay b S R B 2
AL TR (BB )
A=) G R IE R (b T4%) 4
T (50%50%150) 1 5
=) B R E R (b T.48) 32
I (50%170) {ES 0
=) B E SR (b T.48) 2
O (¢50) & )
A=)l sy o e
L (50%50%100) 1 |
Wi (M T3k) B 1
10. ImX 5. Im (2" A1) ®PT

20KK0001-0C1

o




ARTHEENRE

BH - TR - R - B Bk ==XV o B il & KA e i =
WEIME IR (b T3E) -
1220 X 200 X £100 15 AT |
NN Be M) | e —
P IATTAN =its ] 5
NoapyhatoEkE i) | =
= 3
2
Ny bt ovERE G | e
& E = i) 5
7K BEK T B
PU240Z1+f = :
5
PU240%% m
35. 00
NIRRT 1 409, 976
=
1 0
RE D 9.8
+wb N m3 .
FmFEIE 390
m2
0
O TERR ALy 9.8
DIDAY 7.0kmLA F BT m3 .
) N 39. 0
7.5emZ B 212, 5embd B I 79v4774070 m2 .

20KK0001-0C1

o



ARTHEENRE

HH - TAE - FER - AR - B HAL & 1t & TG i
TR HE AR E 43.6
2. 6%100%100mm m2 .
ity . 3.0
—RI BRI - BE AR m2 .
a/))— 6.5
R - SRS N o) OV-/HSRERT) $T7% 24-8-25(20) GilR) — i/l | m3
0
Ep I stb) 43.6
m2
0
Zik T ) 1 362, 905
=Y
1 2,132,579
AN X DMAT. 217.7
R T. 300m2LA _b-500m2Ai; il 4 m2 .
Nt kst | ==
ANTLZ m2
275.0
s e ET | ===
P vy m
207. 81
G an ) 1 1,886, 110
=
1 1, 964, 790
A2 38 s A i H A T " 1 1,886, 110
I
1 1, 964, 790
A2k G AR [ ] 91
AR S (8HF T17Iy) AH

20KK0001-0C1

o




ARTHEENRE

TR - R - BB - HLRE HAL & 1t & M S i
sOEPEEREB PR TO [KH] 12
A 85 (230 5ikF) AH I
gi@?@;ﬁ%{fﬁéB PR L@ [#H] 33
R B (2205 61F) AH
[k ‘ 1 36, 388, 946
=
1 39, 894, 789
(45 #e55) ) 1 1,199, 584
2V
1 1,433, 083
Sl R E ) 1 5, 853, 872
2V
1 6, 743, 572
e (i 2 ) 1 1, 895, 872
=
1 2, 456, 572
SR Y ) 1 567, 172
2V
e 2 ) 1 1, 321, 600
2V
1 1, 882, 300
B B A ) 1 7, 100
=
ol a2 (REF L) ) 1 3, 958, 000
2V
1 4, 2817, 000
i T ] 1 42,242, 818
2V
1 46, 638, 361

20KK0001-0C1

o




ARTHEENRE

HH - AR - FER] - AR - B HAL 5o it & TG 1

B B ) 1 15, 296, 000
=Y

1 16, 619, 000

TR ) 1 57,538, 818
=Y

1 63, 257, 361

— R ‘ 1 9, 7217, 182
=

1 10, 533, 639

T ik, ‘ 1 67, 266, 000
=Y

1 73, 791, 000

TH B BiAH %0 ) 1 6, 726, 600
=Y

1 7, 379, 100

BEKiTE ) 1 73, 992, 600
=

1 81, 170, 100

20KK0001-0C1

o




